o(0 @) (rad)
=
S

a(d cot(d))

-

1072

T ||||||||
=
&
:
H

.................

1073

LR |
g
feeeeaaaa
——
———

SO U A 0 I T

o
R IR 411 PN T
: t : 04

P
HR
T T

w

|
W[

|
N

|
=

0 1 2 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM_CKF_QCDHighPt_base
—— DQM_CKF_QCDHighPt_retrainOldFiles125_v2_prelimWPM_epochl

z
T

=
<

SICEWACL
aloa,) (cm)

1074

....................................

Ratio

[«

0 1 2 3 =2 0 123
TP n (PCA to beamline) TP n (PCA to beamline)

O
[N S
N
|
N

=

o p/p.)

1002}

10

Rat

1.1

iy

0o 1 2 3
TP n (PCA to beamline)

o
N -
I
iR



	Contents
	Page 1


